Mounting instructions:  Sidebar series GM/GC/BM/BC/RM/RC

Citroén Jumper
Fiat Ducato
Peugeot Boxer

SW13 (23Nm)

45 Min.

/ SW17 (46Nm )

Version: 1.06 January 2013




-t v

| [~ To] - |

l @ - « (4] &
B
ol -

Q

0 O
Standard kit

1 Front bracket 11 M8x40

2 Rear bracket 12 M8x40

3 Middle bracket 13 Nail 4x12
4 M10 14 M10

5 M10x60 15 M10x40
6 M10 16 M10

7 M10 17 M10

8 Plastic spacer

9 M8x40

10 M8x40






WARNING!!!

Sidebar maximum mounting
wide is 2120mm.

See drawing for clarifying.




	Kaft geen logo
	onderdelen
	montage handleiding blad1
	montage handleiding blad2

